
      

F
in

is
h

 
9

+
1

0
=

? 
 

7
+

1
0

=
?

  
 

1
0

+
9

=
?

  

 
3

+
1

0
=

? 
 1

0
+

1
=

? 

 
1

0
+

5
=

? 

 
1

0
+

8
=

? 
 

1
0

+
1

=
? 

 
3

+
1

0
=

? 
 8

+
1

0
=

? 
 

10
+

10
=

?
 

 
2

+
1

0
=

? 
 

10
+

10
=

? 
 

1
0

+
5

=
? 

 
6

+
1

0
=

? 
 

0
+

1
0

=
?

 
 

1
0

+
2

=
? 

 
1

0
+

6
=

? 

 
0

+
1

0
=

? 
 

1
+

1
0

=
? 

 
1

0
+

7
=

? 
 

1
0

+
3

=
? 

 
2

+
1

0
=

?
 

 
3

+
1

0
=

? 
 

1
0

+
6

=
? 

 
1

0
+

0
=

? 
 

4
+

1
0

=
? 

 
1

0
+

4
=

? 

 
5

+
1

0
=

? 

 
8

+
1

0
=

? 

 
1

0
+

1
=

? 
 

1
0

+
3

=
? 

 
1

0
+

5
=

? 
 

1
0

+
0

=
? 

 
1

0
+

2
=

?
 

 
1

0
+

4
=

? 
 

1
0

+
8

=
? 

 
1

0
+

6
=

? 
 

1
0

+
7

=
? 

 
1

0
+

9
=

? 

 10
+

10
=

? 

 
6

+
1

0
=

? 
 

2
+

1
0

=
?

 
 

0
+

1
0

=
? 

 
1

+
1

0
=

? 
 

3
+

1
0

=
? 

 
4

+
1

0
=

? 
 

9
+

1
0

=
? 

 
7

+
1

0
=

? 

S
ta

rt
 

 
5

+
1

0
=

? 

 
D
ir
e
c
ti
o
n
s
: 

E
a

ch
 p

la
ye

r 
p

la
ce

s 
a

 c
ou

nt
e

r 
on

 S
ta

rt
. 

T
a

ke
 tu

rn
s 

to
 r

ol
l a

 d
ie

 a
nd

 m
o

ve
 t

h
at

 n
u

m
be

r 
o

f s
p

ac
es

. 
R

e
ad

 a
lo

u
d

 a
n

d 
an

sw
e

r 
th

e
 p

ro
b

le
m

 in
 th

e 
b

o
x 

yo
u

 la
nd

 o
n.

 R
e

co
rd

 th
e

 e
q

u
a

tio
n

. 
Y

o
u

 m
a

y 
u

se
 a

 c
al

cu
la

to
r 

o
r 

1
0

0
 g

ri
d

  t
o 

ch
ec

k 
e

ac
h 

o
th

e
r's

 w
o

rk
. 

 I
f 

yo
u

 g
iv

e
 th

e 
co

rr
e

ct
 a

ns
w

e
r 

yo
u

 m
a

y 
st

a
y 

w
h

e
re

 y
o

u
 a

re
. 

If
 y

ou
 g

iv
e

 a
n

 in
co

rr
ec

t a
n

sw
e

r 
yo

u
 m

u
st

 m
o

ve
 b

ac
k 

2 
sp

a
ce

s.
 K

e
e

p
 ta

ki
n

g 
tu

rn
s 

u
n

til
 o

ne
 p

la
ye

r 
re

ac
he

s 
th

e
 F

in
is

h
 li

n
e

. 
  

  
   

  
  

   
  

   

©K-5MathTeachingResources.com 

V
e

r.
 1



[T
yp

e 
te

xt
] 

    

F
in

is
h

 
1

6
-1

0 
 

1
8

-1
0

   
 

1
1

-1
0

  

 
1

9
-1

0 
 1

8
-1

0  
1

7
-1

0 

 
1

5
-1

0 
 

1
2

-1
0 

 
1

0
-1

0 
 1

4
-1

0 
 

1
3

-1
0

 

 
2

0
-1

0 
 

1
9

-1
0 

 
7

0
-1

0 
 

6
0

-1
0 

 
4

0
-1

0
 

 
8

0
-1

0 
 

2
0

-1
0 

 
1

6
-1

0 
 

7
0

-1
0 

 
1

4
-1

0 
 

1
8

-1
0 

 
6

0
-1

0
 

 
1

9
-1

0 
 

5
0

-1
0 

 
2

0
-1

0 
 

4
0

-1
0 

 
3

0
-1

0 

 
2

0
-1

0 

 
1

8
-1

0 

 
1

9
-1

0 
 

1
0

-1
0 

 
1

1
-1

0 
 

1
0

0
-1

0 
 

1
2

-1
0

 
 

1
4

-1
0 

 
1

6
-1

0 
 

1
3

-1
0 

 
1

5
-1

0 

 
9

0
-1

0 

 8
0

-1
0 

 
1

6
-1

0 
 

1
2

-1
0

 
 

1
4

-1
0 

 
1

3
-1

0 
 

1
0

-1
0 

 
1

7
-1

0 
 

1
5

-1
0 

 
1

1
-1

0 

S
ta

rt
 

 
5

0
-1

0 

 

©K-5MathTeachingResources.com 

D
ir
e
c
ti
o
n
s
: 

E
a

ch
 p

la
ye

r 
p

la
ce

s 
a

 c
ou

nt
e

r 
on

 S
ta

rt
. 

T
a

ke
 tu

rn
s 

to
 r

ol
l a

 d
ie

 a
nd

 m
o

ve
 t

h
at

 n
u

m
be

r 
o

f s
p

ac
es

. 
R

e
ad

 a
lo

u
d

 a
n

d 
an

sw
e

r 
th

e
 p

ro
b

le
m

 in
 th

e 
b

o
x 

yo
u

 
la

n
d

 o
n

. 
R

ec
or

d 
th

e 
e

q
ua

tio
n

. Y
o

u
 m

a
y 

u
se

 a
 c

a
lc

u
la

to
r 

o
r 

10
0

 g
rid

  
to

 c
he

ck
 e

ac
h

 o
th

e
r's

 w
o

rk
. 

 I
f 

yo
u

 g
iv

e
 th

e
 c

o
rr

ec
t a

n
sw

e
r 

yo
u

 m
a

y 
st

a
y 

w
h

e
re

 y
o

u
 a

re
. I

f 
yo

u
 g

iv
e

 a
n 

in
co

rr
ec

t 
an

sw
e

r 
yo

u
 m

u
st

 m
o

ve
 b

a
ck

 2
 s

p
ac

es
. 

K
e

e
p

 t
ak

in
g

 tu
rn

s 
u

n
til

 o
n

e
 p

la
ye

r 
re

a
ch

e
s 

th
e

 F
in

is
h

 li
ne

. 
  

   
  

  
  

  
   

   

V
e

r.
 1


